VP17 90 "7 "o R,LD P2 .7"02

— Dy RIS ST BPRIT 9D
Whatever was picked from these shall be redeemed

OVERVIEW

The mwn, cited in our X773, stated that the 11X would set aside money and say
that any fruit of *v27 which was picked should be redeemed with this money. The
X713 concluded that the 1¥11x actually said any fruit which will be picked should be
redeemed with this money. Md0In discusses the practicality of these statements.

mooIn asks:
- 15’””3 150 NY NINN NN D’U‘pbb\’) 197 099N 11 2N NN

It is astounding! When would the pPyux say, 271 X7 am vpP1a 9d; since
regarding the fruit which was gathered after this statement, it would not be

redeemed -
- PUON Y9219 DYIMIN 1PN DYV Y33 931 13 ON)

Therefore, is it then feasible that the Py1X would continually say it without
interruption!?

mMooIN anticipates a possible solution:
- 279103 £5%3¥ %32 139 19 *DIN 151 39Y Y93Y NNPON 99

And if you will say; that the 7°¥11% would make this statement every evening, just
like regarding the poor, which the X713 mentions shortly —

mooIN rejects this solution:
- *omN 0P 1IIRY NNRY NIPN NN RY DIPN YN

Nevertheless, it would not remedy that which was eaten during the day, before
the statement (of 51 vp217 95) was made at night. The question remains when would the

' The Py would set aside money and state, ‘any fruit which was gathered should be redeemed with this money’,
and therefore fruit which are picked after this statement was made is not redeemed. So when did they say it?
* Every evening, when we can be reasonably assured that no one will gather any more fruits, the 7¥18 would say
whatever was picked today is redeemed.
? X017 ' maintains that every evening the 2"7va would proclaim, ‘whatever the poor gathered today (from vp»)
should be 2p577” (so even if the poor took more than they are allotted, it will not be 213).
* The actual 91211 takes place in the evening (when they say vp917 92); however many people would have already
eaten the fruit by day (right after it was picked), and then it was still *¥y27 073. Regarding the rule of &017 "3, who is
discussing 01 who are gathering grain, the 77577 can be done at night, since the 01y will not eat the grain in the
field until it brought home and ground, etc., however by fruit (the case of the 1¥11¥), they usually eat it as soon as it
is picked (see 779 11727 MdOIN).
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71113 make this statement of 121 P 7.

N1B0IN answers:
- AVYPY NN YNN KPITINY VP9IN 97 PN 13539 TN

And the "1 answered; that the statement 21 ¥p»an7 92, was not made precisely

immediately after the gathering -
= VPYI NOY TIYa MYN NN NIN

But rather he (the 1¥11%) puts aside the money before any fruit was gathered -
- S79PY50 INR 59NN N3N VPYI NPNWAY NT HYAT B *9INY

And he says, this sy29 295, when it will be gathered, it should be redeemed,
with this money, after it was gathered.

mMooIn responds to an anticipated difficulty:
- 5nv9r9v 1ma 19 YYD D152 NN MINYN 19 199N 7299 >mNdYY NOYT %29 IMMRPT R

And regarding this which X917 ' stated that the owners would proclaim towards
evening time, P77 X7 017 0°°1v7 WRYW 92'; they could have done it even in the

morning as I explained’ -
- 95590 1993 1290 VPYY DY 1IPONS NIV |9 ¥RUM X7 NIV NYY NN

But rather X017 "1 is offering sound advice that the owner should not be P57 in
the morning, in order that the 21y should not allow themselves to gather more
(than is normally permitted) since the owner was 9°p5% whatever they gather —

Mmoo offers an alternate explanation why X017 " insists that the 797 is in the evening:
- APaNN NN NVIPY NN s XY NIY 19598 PINY DAN NPIT 29y YMNYY 923 ON

Or you may also say that X017 "7 meant specifically the evening time, but not in
the morning, out of concern that perhaps he will not explicitly state that the
=757 should take place after the gathering,'? but rather he will state, ‘whatever they

> The Pw1g would do this in the morning before anyone had a chance to pick the grapes.

% They need to say it once in the morning and it will apply to anyone who gathers fruit that day. Moo needs to say

that it will be 7v°P27 R 9217 because at this point we assume that they said vp?171 73, ‘everything that was picked’.

" mooin will explain why was it necessary for them to say it (only) in the evening.

¥ The owner could have said, ‘whatever the 01y will gather, more than their allotted share, will become poi7 after

they gather it’.

? Regarding X017 "1 we cannot say that it is imprecise (as we say regarding the 1"¥% that it is not actually vp>aw MY,

etc.) for X017 " argues with *"1 who maintains that owners are 7122 7°po7 and 7" maintains they are 27v2 pon.

' However, if the owner is not 7°po» in the morning, but only in the evening the o1y will be careful as to what they

gather because perhaps the owner will not be 7°pon and they will transgress the 72°13 oK.

"' The w"w" amends this to w19 (instead of w>19%). See also Y15 11°21 NvBON.

"2 If he states, whatever will be gathered today shall be 1p971 after it is gathered’, this is an effective po: (just as by

o1 if he says qwpoT NR P 1 vphl awdY, it is a proper 7M7), since (at the moment of qpon [‘after it is
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gather today shall be “po7°."

nooIN asks:
= 0PNYT DOWNINN VN 1P 14‘[1):@2 yNYNTs 917‘1‘,75 92N92 9N Vv 19223 9NN ON)Y

And if you will say; since 91911 is effective even when the fruit is attached to

the ground, as is indicated shortly, why did the 2°¥11% inconvenience themselves

by making the 27°11 in this manner -
- PNN N22 0999 Y2 ©IYINN PN RY b

Why did they not redeem the entire vineyard at one time?!

N1B0IN answers:
- DYIVIPY MIDN INY TPINY DIEN 191 RNIYT I U

And one can say; that perhaps they wanted to take the rest of the m® to

2R -
- NN HAa Y9N YYNY DI 191 XY 7929Y

Therefore they did not want to redeem everything at one time so they were only
o%nn the Mo which were picked by the passersby —

mooin offers an alternate solution:
- 1519 NN TNV 1199 99N DI NN NIYW 29Y 133 ON

Or you may also say that if they would make the %17°n while it was still growing,
the %' would not be effective for that which grew after they made the > n.

Mmoo asks (on the conclusion of the Nﬁm):16
=19 IR DY NNY DI NN NY XN VPINNN Y 9INRP 5 Yanpnn ony

gathered’]) it is clear what he is being 257 (just as it is clear what he is being 7n» after it was gathered); however if

he does not explicitly say 19217 7 vpRIWwa2, but rather poi Ri* 0197 WP?W 77 93 it is not a valid 1po7 since at the

moment of 7po7 it is not specified what he is 7°pon; this is called 77°72 1X; we cannot retroactively verify what he

meant at the time of the po:.

" However regarding *v21 012 we have no choice but to say the 9121 in the morning, because since it is fruit, which

people may eat as soon as they pick it, they will be eating >va7 073 if the 71°n was not already made. See footnote #

4. See x"wnn (see 0"7n for an alternate explanation).

' See the beginning of the following X=X 7" Moo,

'> The ripening process takes some time, and not all the grapes ripen at the same time. In order for the ¥ to

protect the passersby from transgressing the *v27 MoK, they would have to be 72n the M1’ at the beginning of the

ripening season. However (many of) the grapes are still growing and the part which grew later was not redeemed, and

the people who pick the grapes later in the season will transgress the “v27 M0k for the additional growth of the grapes.

'® The X3 concluded that the 1»1x did not say "21 P23 92 (whatever was picked), but rather vpon»i 22 (whatever

will be picked).

' This question is based on the last answer just given that the 1¥% were not 97 the 075 because it would not

include any future growth of the grapes after the 112°n was made. The same question can be asked on the X301 of the
3
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And if you will say; when the 7y1x said, ‘whatever will be picked should be
Y91, etc.”, that would not be effective for that which will grow afterward.'®

N1B0IN answers:
- Yoo3pnn 190 190Y 199199 1SY 11 01PN YT 99 U

And one can say; that nevertheless the Pv1X corrected whatever they were
able to correct —

mooIn offers an alternate solution:
- 9344 Y2 7Y XPYT I

And additionally, perhaps this miniscule additional growth was nullified by the
majority of the grape which was already (almost fully) grown —

Moo responds to an anticipated difficulty:

9503 PN 01PN Yam ZHr0a XY 9HNA 1999N 199901 19 WIY 9297 22 5y 9N)
And even though that a 3>°n» Y wsw =927 is not Y¥2 even one part in a
thousand, nevertheless it is 7990577 3% DVA (even if it is a 11900 1% LW 127).

SUMMARY

When the 7yux said 27m vp2i7 92, it was in the morning and they said that
whatever will be picked today will be redeemed by the set aside money, when the
fruit will be picked. They were not 921» the entire 073 initially either because they
wanted to bring the fruit to °2w17, or the 71%°11 would not include future growth.

X 13 that the 111¥ said, 191 vponna 9.
'® The grapes would grow (somewhat) after the 1"»11% were 5r» (in the morning, or on previous days); there would
be no 712’1 for that additional growth. See ‘Thinking it over’.
' Perhaps they said it every day, or perhaps they waited until the grapes were fully ripe, but in any event they
prevented the *¥27 10°8, from that which they were 2m1 (even though they were not able to prevent it entirely).
* We are discussing passersby who may pick the grapes. They will obviously pick the ripe grapes which are already
matured. Therefore there will usually be only a miniscule additional growth between the time of the proclamation of
the y1Y and the time the passersby eat the grapes. That small amount of >¥27 is 2172 %v2 in the redeemed grape.
This is not comparable to what n19oIn asked previously that they should be 99n» the entire 073 (see the text by footnote
# 14), for there nooIn asked that they should be 2rn at the beginning of the ripening (see footnote # 15), so that by the
end of the ripening season the additional growth on (some of) the grapes will not be 2172 52 (see KT R"WN).
2L A pnn 1% wow 127 (a thing which will be permitted) refers to any 210°X which can eventually become m». This
case of *v21 07 is a prime example. Right now before 9171 (or bringing it to 2°2w17°), the grapes are 10K; however
once there was 21711 (or they are brought to 2°>217°), they are 70 to be eaten.
2 One of the reasons it is not b2 is because we say, why eat it now when it is still Mox (albeit 2v2), when you have
the option of eating it later when it will be completely 0.
 This rule of Y12 X 99X 19°0K 11°01 19 W 127 is only 1327171, however Xn™ K77 it is 2172 Hva.
* Therefore the ¥1% were protecting the passersby from transgressing an Xn»XT 0.
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THINKING IT OVER

moown asks on what the Xmx states that the p¥IX said "1 vpbnna 93, but
nevertheless the 719’1 would not be effective on the future growth.” Why cannot
we answer that they said vp?nni 95 should be redeemed by this money
immediately prior to the 7v°p2 (similar to what M0 said previously that they
said, in advance, this money should be 5%nn whatever was picked) so there is no
issue of future growth?!*

% See footnote # 18.
26 See TIMoN wAON TN # 135-36.
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